The regression output below contains the months of the year as well as an independent variable called ‘series’ which is just a number give for the order of the data. This variable should take into account any ‘trending’ data. If sales are going up overall this Jan will be better overall than last Jan. As you can see this increased the r-square to 97.4 with r-square (adj) of 96.4. 
The regression equation is

Foot_Traffic = 2678447 - 6012 Series - 731831 January - 1199189 February

               - 794340 March - 781012 April - 427949 May - 461871 June

               + 638072 July + 121478 August - 785516 September - 308847 October

               - 379135 November

Predictor      Coef  SE Coef       T      P

Constant    2678447    54323   49.31  0.000

Series        -6012     1040   -5.78  0.000

January     -731831    70242  -10.42  0.000

February   -1199189    70172  -17.09  0.000

March       -794340    65525  -12.12  0.000

April       -781012    65384  -11.94  0.000

May         -427949    65260   -6.56  0.000

June        -461871    65152   -7.09  0.000

July         638072    65061    9.81  0.000

August       121478    64986    1.87  0.070

September   -785516    64928  -12.10  0.000

October     -308847    64886   -4.76  0.000

November    -379135    64861   -5.85  0.000

S = 91715.4   R-Sq = 97.4%   R-Sq(adj) = 96.4%
Analysis of Variance

Source          DF           SS           MS       F      P

Regression      12  1.02182E+13  8.51520E+11  101.23  0.000

Residual Error  33  2.77587E+11   8411715550

Total           45  1.04958E+13

Source     DF       Seq SS

Series      1  1.20838E+11

January     1  3.46092E+11

February    1  2.17271E+12

March       1  9.77472E+11

April       1  1.18913E+12

May         1  2.38859E+11

June        1  4.09782E+11

July        1  2.74209E+12

August      1  7.70486E+11

September   1  9.25551E+11

October     1  37818178695

November    1  2.87413E+11

Unusual Observations

Obs  Series  Foot_Traffic      Fit  SE Fit  Residual  St Resid

  2     2.0       1720649  1885411   49532   -164762     -2.13R

 10    10.0       2788798  2618330   49532    170468      2.21R

R denotes an observation with a large standardized residual.

